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1101[XK1E &E 69 690 0 690 10 0 0 0 1620 0 756
EE 50 750 0 750 15 0 0 0 1188 0 756
=) 155 1550 0 1550 10 0 0 0 1512 0 1080
S 11 165 0 165 15 0 0 0 0 1188 0
(&) 315 3455 0 3455
1103| A 3D mE 11 110 0 110 10 0 0 0 3240 0 1944
GhH 11 110 0 110
[EE=Y I EI 17 170 0 170 10 0 0 0 4320 0 2700
GhH 17 170 0 170
1113|FEAS (&D) 205 2050 0 2050
RAIEES GD 1 10 0 10
1141|5848 mE 8 40 0 40 5 0 0 0 3672 0 1080
=) 3 30 0 30 10 0 0 0 1728 0 1404
& 11 70 0 70
1201|H% T 90 1350 0 1350 15 0 0 0 1944 0 1728
[E)) 290 4350 0 4350
1203 | F Ry BH 840 8400 0 8400 10 0 0 0 2819 0 2376
EE 290 2900 0 2900 10 0 0 0 2376 0 810
GhH 1210 12100 0 12100
1205[[FSNAE [EE 890 356 356 0 0.4 216 0 119 0 0 0
#mE 16 64 0 64 4 0 0 0 0 2484 0
) 906 420 356 64
1207[ & GH 555 80 55 25
1209| 5% B 5 15 0 15 3 0 0 0 0 2160 0
(&) 5 15 0 15
1223| &% EE 929 279 279 0 0.3 130 0 76 0 0 0
(&) 1004 294 279 15
1301[#aF mE 16 32 0 32 2 0 0 0 1728 0 1404
= E 120 36 0 36 0.3 0 0 0 0 248 0
=H 75 38 0 38 0.5 0 0 0 0 270 0
=0 11 55 0 55 5 0 0 0 4536 0 3888
[E)) 222 161 0 161
1321 [ S 80 400 0 400 5 0 0 0 2808 0 2592
BiE 15 75 0 75 5 0 0 0 0 2484 0
=0 72 360 0 360 5 0 0 0 2808 0 2484
=ik 20 100 0 100 5 0 0 0 0 2808 0
(&) 187 935 0 935
1331 [MFBe  [AFS T 20 200 0 200 10 0 0 0 0 3348 0
(&) 20 200 0 200
1351[E—<> |55 300 45 0 45 0.15 0 0 0 0 103 0
=g 1980 257 0 257 0.13 0 0 0 92 0 86
Eh 2280 302 0 302
1353[2 Tk =& 30 3 0 3 0.1 0 0 0 0 238 0
Eh 30 3 0 3
1401 |A Y =5 4 8 0 8 2 0 0 0 0 3456 0
Gh 4 8 0 8
1501 [ HE S 39 195 0 195 5 0 0 0 2160 0 1404
Gh 39 195 0 195
1521 | B % BiE 10 100 0 100 10 0 0 0 5400 0 3240
Gh 10 100 0 100
1523| LR R (&) 1 2 0 2
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1531 [LUDE EE 20 200 0 200 10 0 0 0 18900 0 5940
& 20 200 0 200
1541 [E & dbimE 190 3800 0 3800 20 0 0 0 3240 0 2808
& 190 3800 0 3800
1609(7Oval)  [@ES 3 18 0 18 6 0 0 0 0 3672 0
FI 20 120 0 120 6 0 0 0 4212 0 3240
GhH 23 138 0 138
1611[LER Fi& 1 5 0 5 5 0 0 0 0 1944 0
GhH 11 105 0 105
1612[H =L AR [ED) 3 15 0 15
1627[3=F=k  [&EJI 225 45 0 45 0.2 0 0 0 189 0 184
S 15 45 0 45 3 0 0 0 0 2916 0
GhH 290 108 0 108
1705| L= fa] 630 50 0 50 0.08 0 0 0 0 56 0
(&) 634 66 0 66
1803 | HEE EE 810 81 0 81 0.1 0 0 0 162 0 124
=) 150 15 0 15 0.1 0 0 0 0 147 0
EmE 90 18 0 18 0.2 0 0 0 260 0 66
GhH 1050 114 0 114
1807|88H E& 500 50 0 50 0.1 0 0 0 0 62 0
=% 1500 300 0 300 0.2 0 0 0 0 119 0
% 150 45 0 45 0.3 0 0 0 0 148 0
(&) 2150 395 0 395
1809|L&HL EF 1200 240 0 240 0.2 0 0 0 143 0 126
(&) 1200 240 0 240
* S FAET * 24574 54016 1324 52692
2103| B &E &M A | F0FRL 60 600 0 600 10 0 0 0 4752 0 4644
(&) 60 600 0 600
2105| @A N A | B 10 100 0 100 10 0 0 0 0 3780 0
[E)) 10 100 0 100
2221|E+ = 5 50 0 50 10 0 0 0 0 5724 0
=5 13 130 0 130 10 0 0 0 5724 0 4860
(&) 18 180 0 180
2225| E# & 23 230 0 230 10 0 0 0 5508 0 4860
(&) 23 230 0 230
2361 £ ifiA 22 110 0 110 5 0 0 0 0 2268 0
(&) 22 110 0 110
2401 |[EH# =B 1 8 0 8 7.5 0 0 0 0 1944 0
(&) 1 8 0 8
2441 | F#h [GD) 25 15 0 15
* S EEET * 293 2470 0 2470




